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4    Consider two concentric spheresone has radius ܽ, and a charge +ܳ is distributed 

uniformly over its surface. The outer sphere has radius ܾ and a charge – ܳ is 
distributed uniformly over its surface. Find the capacitance of the sphere if a 
dielectric of a dielectric constant ߳௥  has been placed between them 

቎࡯ = ૝࣊ࣕ   ૚࢈ – ࢇ૚  ቏ 

 

 5     (a) Show that the capacitance per unit length of the coaxial cable is given by ܥper unilt length = ln߳ߨ2 ௕௔     F m⁄  

Where ܽ and ܾ are the inner and outer radii 

(b)  If the thickness between the coaxial cylinders consists of two layers equal in 
thickness and having ߳௥ଵ and ߳௥ଶ , find the capacitance 
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ࢀ࡯ۍ = ૛࣊ࣕܖܔ࢕ ቀ࢘ࢇቁ ૚ࣕ࢘૚  ቀ࢘࢈ቁ ૚ࣕ࢘૛     ۴ ⁄ܕ ۑۑے
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 6    Find the capacitance between the curved plates shown in the fig 
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቎࡯ = ܖܔࢎ ࣕ ࢻ ࢇ࢘࢈࢘  ቏ࡲ   


